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Choose the correct answer:

1 Marks : 2 Marks : 2
Apemonwhotakesﬁskolselﬁngupmm Wit A @ W &g o S
businessiscalled............. | @ @ESTT Y.

A, merchant

B’ entraprensur

C businessman

D sales executive | :

2 Marks :2 | 2 Marks : 2

For medium service enterprises, the
investment range Is between...........
A 1lakhto 10 lakhs
B 10lakhs to 2 crores

C— 2 crores to 5 crores

D S5croresto 10 crores

3 : Marks : 2
Expansion of MSME is.................

A Micro, Scale and Medium Enterprises

B Macro, Small and Medium Enterprises

C Micro, Small and Medium Enlerprises

D Minor, Small and Medium Enterprises

r = Marks : ’2""
Which one Is a direct promotion technlque?

A, Advertisement

B Customer service

C Public relation

D Good will of the community

5 Marks : 2
Which one is an Integrated business
accounting software for small and medium
business?

Al Tally

B Busy

C Wings

D Target

6 Marks : 2
Ozone layerismade up of..........

A one oxygen atom (O)

B two oxygen atoms (O,)

G three oxygen atoms (O3)

D four oxygen atoms {O,)
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5 Marks : 2
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Marks : 2

Rising of sea level
C Melting of glacier
D Change in rain fall pattemn
8 -
Primary source of wateris....... .. Marks : 2
A river
B lake
C rain water
D ground water
g ° Aarks :2 | D
The transformation of water vapour to liquid | 8 Marks : 2
water droplets in air is called.............. A o aw w a T e @B )
A transpiration | T v 8
B condensation -
C evaporation B wdwm
D_prechiietion
10
Which one is non — renewable energy? Warks T3
A Solar 5
B Wind T o A—Regyes Sot @
G Ceal
D Rain
1" -
Noise, vibration, radiation etc. comes
e Marks : 2
A_ physical hazard oy w5 o W ot aw @ R
B chemical hazard Sl
C biclogical hazard W= o
D mechanical hazard 3 weRw tend
12 C 2w durd
Scientific study of the relationship between | B  =fse dard
men and his working environment is 2
s o SR R T I B e B dm @
B, ergonomics & e s swann €
C biology
TR
D ecology
13 @ e
Hand protection is done through......... R
A goggles Marks - 2
B mask T % g S s € L
. € heimet
Dlwvu
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Marks : 2
In fire fighling method, “starvation”
.
fimitation of oxygen
pouring water
elimination of fuel
reduction of temperature

T
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The unsafe condition o work is.... .........
oily floor

good bght

proper tools
adequate ventilaticn
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Under factoriss Act, the workers weekly
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What is the completed age of an adulls

Marks : 2

1 Marks : 2

Marks : 2
um*mmnmm“wMW
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Marks : 2

| 0w e, sz B sqeR odE W s

W wiRd?

. Marks : 2
=3 9T, 1948 & I e TER) ¥

worker under factories Act, 18487
A 21years @WW?
B 18years m“
C 15years : "“"'
D 13 years
19 Marks : 2 L“
Which amount does include in “Wages" Marks : 2
amount as per "payment wage Act'? ﬂ*wmﬁmwtﬂm
A Travel allowance - wa o it &
B Deamess allowance A TR TR
C Remuneration payable in respect of over B g v ;
time waork € @ wnl W@ B T e
D Remuneration payable under any award D ¥ o greE
20 Marks:2 | 20 Marks ; 2
The expansion of ILO is............. - WO & Rwaw wu 8.
A Intemational Labour Organization A TEETEE oWy anliagdns
B Indian Labour Organization B e awe srlemgstn
C Indian Labour Occupation € e dw sieem
D Intemational Labour Occupation D TR da st
~Question Paper - () [y
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21 Marks:2 | 21 Marks : 2
The expansion of QMS is........... QMS a7 fawR w9 &
A Quality Maintenance Scheme A ] e wim
B Quality Management Scheme B e fre wEm
¢, Quality Management System © TEEd e (e
D Quality Maintenance System D wryd i Rren
22
12 Marks : 2
&m:mmmwwm 3 ¥t @ o T A w g
B MURA -3 lm
C MURI T
23 Marks : 2 —
3 Marks : 2
The expansion of PDCAIs............. .
A Plan, Develop, Control, Act | ;‘::“;mm “":R"“*‘
B- Plan, Do, Check, Act = PR |
C Plan, Develop, Check, Act F U v
D Plan, Do, Control, Act e A e
24 S g e g
What s the function of *Histogram® B Marks : 2
tool? e o= * e * @1 o ownl &
A_ easy data collection | JTAFT STET TR
B narrow problem area mmg}a
C indicates shape of disiribution B e @ AR §a I
D assess factors for problem . A W A e s
25 —
. "o g Marks : 2
What does “KAIZEN' mean? KAIZEN 77 anf &
A Maintain standard ' m W
B Selfdiscipline -
C Quality mamagement W
JD Continuous improvement W Frmie
M\m




